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L. [2] A deck of 52 cards is shuffled and three cards are deall off the lop. What is the chance thal nons
ol them are [ace cands (Tacks, Queens, or Kings)?

2. [2] A six sided die is rolled 10 times. Find the chance of exactly three or four “ones” appranng
during these 10 rolls.
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3. [2] On euch of 32 days Marilyn tosses a fair coin 5 times, What s the chance that she never tosscs 3

hcads or 5 tals during (his Lime?

4. |21 A survey rescarch company estimates the percentage of the population of  Austin, Texas thar
listens to a Spanish language radio program by taking a simple random sample of size 300, The
population of Austin is about S00,000. The company now plans to cxtend their research o Dallas,
which has similur demographics to Austin, but sbout twice the population. True or False and
cxplain: T achieve about the same accuracy in Dallas as in Austin, the sample size should be

doubled, te 1000,
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5. A cable compuny takes a simple random sample of 400 households from a city of 37,000
households. OF these 400, 120 express sirong interest in establishing internet access via cable.

{1 ]2] Fill in the blanks or explain why you cannot do so: A 95% confidence interval for the
percentage of households in the city that would cxpress strong inlerest in inlemet access via cable is
3

(b [2] Triee or Falye and explain: The chance that the pereentage of such houscholds in the city is
less than 30% 15 uboul 505,
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6. [4] A box contains dekets wilh the values 1,23, 4.5, If an even number is selected, Jules pays lim LY
and if an odd number is sclecied Tim payvs Jules $1. This game is played 23 tmes. Timd
approximately the chance that Jim comes oul ahead,
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7. [4] There are 200,000 households in a certain city of which a simple random sample of 400 are
selected. The median household income is $40,000 and the upper quarlile is $60,000. The
percentase ol households in the sample with incomes over 360,000 will be around aive or
lake 0r S
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Solutions o Practice Second Midterm

AMx39x 38
1. 52%51%=50

1ot q‘r’ sY 1ot(1y [z]"
2. aihe) Le) 4!5!fo G,

152
3,410

4. Falze

5. (a) 254 % o 34.6%

i) Falze
6, 6%

7. 25% give or take 2.1%
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